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Match List — I with List =11 and select the correct

; ists
answer using the codes given below the lis
List -1 List =11
(Vegetation Type) ( Reglon?
A. Maquis {. California
B. Fynbos 2. Mediterranean
i Sea Coastal
Region
C. Chaparral 3. South Africa
D. Matorral 4. Chile
Codes :
A B~C D
(C) 3 4 1 2
) BRIl

Match List - I with List - II and select the correct
answer using the codes given below the lists :

List - I List =11

(Country) (Capital)
A. Uzbekistan 1. Tashkent
B. Tajikistan 2. Dushanbe
C. Kyrgyzstan 3. Bishkek

D. Turkmenistan 4. Ashgabat

Codes :

A B CD
(DE1EE2 R SR
(b)E 128 483
(C)anlba3iad an?
()RR DA PR

Match List — I with List — II and select the correct
answer using the codes given below the lists :

List—1 List - II
(Natural Vegetation)  (Region)
A. Epiphytes 1. Mediterranean
B. Acacia 2. Equatorial
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4. Which of the following is NOT correctly matche 9

(Tribe) (Place)
(a) Pygmy Congo basin
(b) Angami Nagaland
(¢) Ainu Japan
(d) Khirghiz Sudan

5. Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Indian Ocean has become the
Military bases of many big powers.

Reason (R) : There is strong geo-political :
benefits in Indian Ocean and adjacent countries,
Select the correct answer from the codes given below
Codes :

(a) Both (A) and (R) are true and (R) is the correct
explanation of (A)

(b) Both (A)and (R) are true, but (R) is not the correct
explanation of (A)

() (A)is true, but (R) is false
(d) (A)is false, but (R) is true

Which one of the following is the correct sequence of
the hills of Centra] India located from Wes to East ?

(a) Maikal, Satpura, Mahadeo and Chhotanagpur
(b) Satpura, Mahadeo, Maikal and Chhotanagpur
(¢) Maikal, Mahadeo, Satpura and Chhotanagpur
(d) Satpura, Mahadeo, Chhotanagpur and Maikal

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : The highest concentration of
Seismic zones lies in Himalayan region in India,

Reason (R) : There are many longitudinal thrust
zones in Himalayas,
Codes :

(a) Both (A) and (R) are true and (R) is the correct
_ explanation of (A)

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)
) (A)is true, but (R) is false
' _(d) (A) is false, but (R) is true
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‘Irrlgpehal Billsinv surrounded by Manipur hills jg :
xamp e Of 1 "] . < .
(@) Lacustrine plain (b) Loess plain. 8. ufirg weifedi & for A AR @ﬁ;:t ;
(€) Glacial plain (d) Alluvial plain (a) Hirafa fgm #1  (b) A ﬁ_mw
. | ‘ O ' ;alﬁi‘ﬂ
9. Which of the following rivers is famous forits fay), (c) femadm ﬂa’q (d) g .
9. ffofaa afedl § @ PH-F1 FH W T yaTR

valley drainage ?

(a) Chambal (b) Damodar £ ﬁv‘m g & 7 %
(¢) Gandak (d) Ramaganga () F9d fg; ITFITITTT‘l
(c) e
10. :V]?E:h o of the following natural regions is knoy,, 10, Prefafag sl w2n § @ a3 e $
as "Land of Big Games’ ? ' 5 ' 27
. 914 H FAET SATdl f
((li)l) Temperate Grassland :E? :;?ﬁm o1 *1 AgH
T . 5 -
(C; Hroplcal Monso_on Region b) SonreRfEa-Hig ATgA ged
ot Desert Region () 3o e g2
(d) Tropical Savanna Region (¢ Iwrhfea-Hia qarl e
17l :a/;tgar[eference t/o the Himal?ayan range, which of n oda 22 ;};;ﬁ;lﬂ %, frefafea 3 =
Statements is/are correct ° —g1 HYA [ "
Il I’l_"{he scledimentary rocks of the greater ?ﬁ:{g@ fawrer %1 gqraen agr:l;ﬁ:g fAFf [ LI
Imalayas were fossil less. ' 2 e JgE | Hra-Aq3
2. Marine livings fossils are found in the 2. g;g ﬁ:gﬁ 3
sedimentary rocks of lesser Himalayas. SffemeH ' Rrarferes femTera & AME T
3. Remains of human civilization are found in 3. ;Tiﬂ %ma;;”_g | ! |
outer or Shivalik Himalayas. a9 ;
Select the correct answer using the codes given 9 feu g | 7 & Hel I g
below :
. W: -
Codes : Yoo | 32 (b) FEd 2 A3
(a) 1 and 2 only (b) 2and 3 only (2‘1) Fae ll 3 3 ) 1.2 3 34dt 2
(c) 1 and 3 only (d) 1,2 and 3 are correct ©) il ] S aaE AT
12. Given below are two statements, one labelled as 12. = jﬁm ﬁ‘E T;_qg?w B FEE ‘
Assertion (A) and the other as Reason (R). . @i BITIAC )ﬁ SRR F TE T S ®
Assertion (A) : Akbar, like Shershah, tried to AT (A) : s s
regulate the currency of the state. ) et 1 fafid N qzft 3 e, FEE S
Reason (R) : As in Shershah’s currency, the chief T (R) : ITATE 1 FZT :
copper coin of Akbar’s time was the Dam. AT 1 T 1 THE feyaret 2™ miﬁllﬁm _
Select the correct answer from the codes given below : A fou i 3 | FE IT FTH ;
Codes : s : F(R
(a) Both (A)and (R) are true and (R) is the correc! (a) W(A)%t:ﬁ@(maﬂguﬁgﬂ ®)
\ explanation of (A) b (A)aﬂt El adl @ W I
- A)and (R) are true, but (R) is not the correct (b) HUT(A) IR I (R)
3 (b) Bot:1 1(1at)ion e (R)F2r (A) 1 Tt = T @
B T e (c) e (A)T R, g 0T (R) T
(c) (A) .ls frls; o s (d) A (A) TS 1 3 ﬁﬁ HRUI(R) H&l ?
(d) (A) 1s false, . < ~ ﬁﬁ
the following battles in chronological order 13. frefafea 3 T’ﬁ‘ AL | e
o 'gza;eglzct the correct answer from the codes given 3t i feu i # | WAl I ﬁﬁN :
1. §fd & 4Q
sl ; low :
ARSTE ?,c Battle of Sarnal 11. foem #1 3<
SR T Battle of Bilgram II1. Y4 &1 &
1 Battle of Dharmat IV, & &1 4E
V. Battle of Jajau : Tz
35 ‘Codes : H
@ IL L I, IV () IL I IV, 1 (@ IL I L, IV (b) I, IIL, IV, I
(@ 0L IL LIV (@ 0L L L IV ( IL IL LIV  (d) I [ IL IV
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4. With reference (0 Hath Yog, which of the following
14. \ 2 |
statement is/are correct e hnahtni.
as practiced by
é' z:::: 522 :;chr[\)ique was also adopted by the
: ﬁ y - .
Sclesc‘ll tlfe correct answer using the codes given
below :
Codes :
(a) 1 only
(b) 2only
(c) Both 1 and 2
(d) Neither 1 nor2

15.  Whichone of the following is NOT the characteristics
of ‘Iqta System’ ?

(a) Iqta was a revenue collection system

(b) Siyasatnama was the source of information
for Iqta System

(c) Revenue from Iqta was directly deposited in
Sultan’s account

(d) Mugqti was supported to maintain troops out of
the revenue collected from Igta

[6. Which of the following is NOT correctly matched ?
(Books) (Writers)
(a) Tabaqat-i-Nasiri Minhaj-us-Siraj-Juzjani
(b) Tarikh-i-Firozshahi Shams-i-Siraj-Afif
(¢) Tughlagnama Ibn Battuta
(d) Humayunnama Gulbadan Begam
17. In which year was the ‘Native Marriage Act’ passed ?
~ (a) 1870 (b) 1872
& k(c)‘ 1874 (d) 1876
18. Match List — T with List — IT and select the correct
- Answer using the codes given below the lists :
List - I1
(Year)
1. 1855-56
2187385
3192

15,

16,

17.

18.
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ectly mat
19, Which of the following is NOT " y(Yc::’:d?
(Event) 1927
(a) Indian Navy Act
193
(b) Civil Disobedience Movement 1930
(¢) Second Round Table Conference 1 |
(d) The Communal Award 33

20.  Arrange the following events in & chronologica 20.

order and select the correct answer from the codeg
' given below :
' L. Appointment of Simon Commission

II. Jallianwala Bagh Massacre

III.  Mahatma Gandhi’s Dandi March

IV. Death of Ferozshah Mehta

Codes ;

(a) Iv, 11, [T

(b) L I, IV, I

() BT T TS T/ AT

(d)! TVASIIT, 4 11t

21.  The trial of the Officers of the LN.A. was held in Ml

(a) Red Fort, Delhi  (b) Gwalior Fort
(c) Amer Fort, Jaipur (d) Agra Fort

22. Given below are two statements, one is labelled as 222

Assertion (A) and the other as Reason (R).

Assertion (A) : The Asiatic Society of Bengal
was established in the period of Warren
Hastings and he modestly declined the offer of
Presidentship of that learned body in favour of
Sir William Jones.

Reason (R) : Warren Hastings was himself a
great scholar and an ardent orientalist who used
to encourage the study of Sanskrit, Persian and
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23.

24.

27

with reference to the National Calendar, which of

i > t?
statements is/are correc y
lthc'lsllle National Calendar of India is based on

i Era. . X
2. "}frlllérli‘lr:tional Calendar is adopted from

January 26, 1950. i) .
Selegtn the gnrrect answer um)ngzlhe ﬁ:;)des given below :
(b on
8 Iligphlyl and 2 (d) Neither I nor2

In which year was accounting se_paruled frm‘n
auditing and Comptroller and Auditor General’s
task only remained confined to auditing the

Government Accounts ?
(a) 1975 (b) 1977
(c) 1976 (d) 1981

Who opposed Planned Development in India ?

(a) Mahatma Gandhi (b) Jawaharlal Nehru
(c) Indira Gandhi (d) Rajiv Gandhi

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Article 30 of the Constitution of
India does not define the term ‘minorities’.

Reason (R) : The Constitution recognises only
linguistic and religious minorities.

Select the correct answer from the codes given below :

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A)is true, but (R) is false
(d) (A)is false, but (R) is true

With reference to the federal system in India, which
of the statements is/are correct ?

I States have no right to secede from the Union
under the Constitution of India.

2. Just advocacy of secession will have the
protection of freedom of expression.

Select the correct answer from the codes given
below :

(a) 1only

(b) 2 only
(c) Both | and 2

(d) Neither I nor 2

28 Which of the following is NOT correctly matched ?

a) Public Health and Sanitation State List

(b) Union List
Second
Schedule
Tenth Schedule

23

24

25,
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29.

30.

3l

32.

33.

34.

35.

UNESCO ‘World ge;
4" 'ngsuon held in the city
i ‘L;.J. (‘a) .

"
o

-19

th Schedule of

I
in the
How many items arf (dhi?lrg
the Constitution of In (b) 24

9
(c) 2 ' islcr.Sofﬁce (PMO)

o c In - 1. n?
With reference to Prim (s is/are correct
which one of the statemen

I. It came into existence If1
2. Tt is headed by the Cabin€
Select the correct answer from the
Codes :
(a) Only2
(c) Only 1

.

¢ Secretary:
codes given below :

(b) Both 1 and 2
(d) Neither | nor 2

The provisions of the sixth Sc_hedulq of ln'dian
Constitution are applicable in which of the
following states ?
(a) Tripura

(c) Nagaland

(b) Sikkim
(d) All of the above

Which of the following is NOT correctly matched ?
“To have the

body of’

‘We command’

“To be certified’

‘By what authority’

(a) Habeas corpus

(b) Mandamus
(c) Prohibition
(d) Quo-warranto

The Money Bill is defined in which Article of the
Constitution of India ?
(a) Article 109
(c) Article 111

(b) Article 110
(d) Article 112

Cross border oil pipeline inaugurated by p i
( y P.M. Modi
in September 2019 connects which of the following

cities ?

(a) Motihari and Amlekhganj
(b) Darbhanga and Amlekhganj
(¢) Motihari and Kathmandy
(d) None of these

| 45 "World Herj ite’ by
itage Commitgee’ in its 43rd

SRS __?..Vﬂmkeig(Momcco)

3%

82

33,
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36. The newly appointed Ma

(a) Kristalina Georgieva

naging Director of LM.F, i
(b) Christine Lagarde

(c) Raghuram Rajan (d) Surjit Bhalla
gramme launched on October 10,
i t to encourage
by the Indian (}_overnmen_ .
lza?;ztedychildmn to enrich their skills is

(a) LAKSHYA (b) PRATIBHA
(¢) DHRUV (d) PARIVARTAN

37. The National Pro

38, Match List — I with List - IT and select tl?c correct
answer from the codes given below the lists :

List -1 List = I1

A. Thomas Cook I. Recipient of
Bharat-Bharati Award

Hong Kong Leader

Lo

B. Greta Thunberg
C. Dr. Usha Kiran 3. Environmental
Activist

D. Carrie Lam 4. British Tour an:H
Travel Company

Codes :

A B
(a) NTEND
(b) 4 2
)1 3
(d 4 3

— AW w M
NN -

| 39. The 2019 Nobel Prize for Economics was given to

v awoman for the second time, name the first woman
. who was earlier awarded this prize.

~ (a) Esther Duflo (b) Gerty Theresa Cori

~ (©) Maria Goeppert (d) Elinar Ostrom

Jal Shaki in September 2019 rela i
llowing periods 7 tes to which of the
(b) 2019-2029
(d) 2019-2024

Indlan I‘ng"*‘g?s is located at which

LA

‘Rural Sanitation Strategy launched by Ministry of -

37 m%qﬁ?

38 _HEd -
8 Qfgﬁ @

39, ST At e g A e

40.

2019-2029

(d) 20192024
41, "

42,
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43, Which GeosY™ n(;aﬂ“‘h s
was used bY
craft ? M
(a) GsLV-ME ", M2
o GsLy-M* ]11 _M8
@ astvV MK
@ GSLV - MK \/-

aements about India’s

largest Crarkhs 4% in Noidn-
| It was inaugur '

2. Itis made of us
oorne:t:tﬂﬂS"""’fm’m

Jastic Waste-

the codes given below :
Select the
Codes :
(a) Onlyl

(c) Both 1and2

(b) Only 2
(d) Neither | nor 2

organisms has white blood ?
(b) Cockroach
~ (d) Mosquito

45.  Which of the following
(a) Lizard
(c) House bug

46. Nitrogen fixing bacteria makeoombmatnon with cells
of the roots of

@Rl R
(c) Wheat

47. L
e is placed on a

- 48, ‘
8 Pairs js NOT correctly

Ic sweetner
ed rubber

44.

45.

47.

48.
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iqui ai cold for a long time in
% ::‘wlrlr?:::f ﬂrzgdll)r::a'::;lc(:l:ere is no loss or gain of
heat by
(a) Conduction :
(b) Convection and radiation
(¢) Both (a) and (b)
(d) None of the above

51.  Whichofthe following glands in human t_?ody acts both
as a endocrine gland as well as an exocrine gland ?

(a) Adrenal gland (b) Lacrimal gland

(c) Pancreas (d) Thyroid
52.  Which one of the following materials contains
calcium ?
(a) China clay (b) Corundum
(c) Gypsum (d) Tale
53. Which one of the following is NOT correctly
matched ?
(Substance) (Use)
(a) Silver bromide artificial
photosynthesis
(b) Silver iodide artificial rain
(c) Lithium bicarbonate treatment of
rheumatism

(d) Milk of magnesia antacid
54.  Tulsi plant has medicinal values due to the presence
of the following
(a) Inorganic Acid
(b) Organic Acid
(c) Phenols and Flavonoids
(d) None of the above

55.  What is true about ecosystem ?

(a) Primary consumers are least dependent upon
producer : ‘

(b) Primary consumers are out-number producers

| (é%_fip"‘_’d""?fsiﬂtc more than primary consumers
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57. The environme”
called
(a) Naturd

(b) AnthropOE™ - ent
(c) Urban c“v:r?;“
@) Moder e

.ngs

! folloW!
\Vthh Of the . i incma

(a) Species @
es. .
to\mds::rllwur more SPecies than temperate
ics
areas.
(c) Greatest
forest. ’
(d) Species diversity decreases [rOM emperate
areas towards poles:

owing is the well known

< anih
I cm'"i‘: it

atement s NOT trye 9

s8. ses from equator

sdiversity occurs in AMazonean rain

59.  Which one of the foll_ _ .
example of bioindicator b;f ‘ai_r pollution ?
(a) Lichens ~ (b) Methyl mercury

() Roseplant ! “'i(—‘ﬂj‘-sunﬂower
AT

- Seawater
Potable water

Proteins

e paddy fields and
{l n";‘

ég]?xide

; ﬁ Secretariat
(LS.A.) located

57.

58.

59!

60.

61.

62.

P & & F—a A ¥ 3w
%1 Jftrg IEE 2 ?

(2) STEHTH (b) Tfere T
(c) e der (d) TS F T
fyfafed o & SF-91 98 gafea T8 2 ?
(a) ST LEES]

(b) et SR LOE ]
OREEEE2U e

ffiied ¥ ¥ FH-T1 T TS W TR 2
(a) WITEAW FARE

@) drefirm ol

(¢) sefifer wrIst

(d) IR ¥ A A T

e, it W 3 W R Irwiia At & e o
A N i et R, 9w
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(b) 7§ fegt
(d) =T

Scanned by CamScanner



<t Union Territory of India to run 100 percep,

The Fi :
© on solar energy 18

(a) Andaman-Nicobar (b) Chandigarh
a

d) Puducherr
(c) Diu & 4

Given below are tWO statements, one is labelled ag
1
65. Assertion (A) and the other as Reason (R).

Assertion (A) : There is a positive relation between
Human Development Index (HDI) and Sustainable
Development Goals (SDG) ranking of Indian State.

Reason (R) : The underlying dimension of SDG targets
are closely related to education and health aspect.

Select the correct answer from the codes given below :

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(@) (A)is true, but (R) is false

(d) (A)is false, but (R) is true

66. Multidimensional poverty index includes :
i Health

ii. Education

ili. Living Standard

Select correct answer from the codes given below :
: * Codes :

- (a) Only i is correct

(b) Only ii and iii are correct

- (© Onlyiandii are correct (d).i, ii and iii are correct

the following events in chronological order

i

T .
(a) (A)TET ®) 2T 7 % ud (R)FHH (A)H

i =TEAT 8 : )
(b) (A)@H ®) S T & TG (R)FH (A)F
a# =T @ 8
©) (AT &, g (R) 7o 2
(@) (a)Term &, By R) & 2

66, R FAdan gl & AT a1l 2 :

LwE
i Ry
iii. Gﬂm-@u

1

..(b) Fae i 3 i T &




T A PR D Pt L S

legally mandatory 1© rcgin odia?
within how many da°

s
(a) 15 days (b) 21 62
g) 30days
(c) 26 days )
(NEHS) - 5
69. National Family Health Survey doe
not include
(a) High blood-pressure
(b) Diabetes

(c) HIV Test
(d) Registration of death

: ts Curve (EK
70. The Environmental Kuzn€ ! Q)
shows the relationship between Per capita GDp
and environmental loss. What is the shape of
Environmental Kuznets Curve ?
(a) Inverted ‘U’ shaped (b) Inverted “V* shaped

(¢) Inverted ‘L’ shaped (d) None of these

71.  Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
-Asserﬁon (A): Sﬁﬁtﬁimiblé-‘dcvelopment is
important for well being of human society.

R casoni(R)E ts'u'sltéafﬁzﬁﬁlei*dévelol)ment is a

& = T =
S P R

(CRS) ,

sysier it i
o egistratioh ‘

68.  Under the Civil Re&" istefbiﬂh and death CVengg

68.

69.

70.

ks

724

() WM (MGNREGA)

RN |||||||Il|lI|H|||u|

| |
:H’I'fﬁ ST SOt (CRs) 3 Sy n
ﬁ’*’féﬂﬂmma&nﬂ;ﬁmﬁ'%
tﬁ@mmwﬁmawm‘zﬁﬁ
(@) 151& b) 20fm

(c) 26feA W) 30f

Usdi uftam sy gdamr (NFHg,
&l 2 3) Smﬂp

(¥ 3= &Fd-9m9

(b) wyHgE
(c) w=. 33, . giteq
(d) Tog T dsfiaptor

ot e a5k vttty it s o
FHCH I B SAHR 58 TP 1 2 2 5
(a) 3T L PN (b) I=a -
(c) ST TH AFR (d) 5 & HE 78

e 1 e fou e el @ e (a7

@R F1 HRT (R) Hal T 2|

THUF (A) : HAq fawE 97a gura F Fem

HEeqYl &

HHRUT (R) : Had faeE ¥ iy 1 fasm 3

STt et et i e g F it @

fohd fomn adnm wma B stavasar o w0

% .

@ (A)TT (R)SHI 58 & a1 (R)FRA (A)H &
AT B

(b) (A)T (R)2HI T8 & wig (R) T (A)H &
S T8l 8§

(©) (A)FH &, 7T (R) o R

(d) (A)TEd &, W (R) el &

P 5 & fave sy g e i A 363
T Rl g e o) ) e ey @ A
TR ?
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73.

7.

75.

~ (b) II, Il and IV are correct

ference to the National Food Security Act,
€

with re Jowing statements Is/are corregy 9

<h of the fol
WhI(IT will cover upto 75 percent e
I.

urban population.
I Special focus on nutritional support to womep,
IL.
and children. | |
[1. Eldest woman of above 18 years age will be
' head of household.

Select the correct answet using the codes given
below : |
(a) Tand IT are correct  (b) 1T and III are correct
(¢) I. 1l and IiI are correct (d) None of these

With reference to the measures of Tenancy Reform
in India, which of the statements is/are correct ?

1. Regulation of rent
2. Security of tenure
3. Confirment of ownership on tenants

Select the correct answer using codes given below :
(a) 1only (b) 1and 2 only
(c) 2and 3 only (d) 1,2and3

With reference to the functions of Public Sector

in India, which of the following statements is/are
correct ?

L. To provide public utility resources
IL. To build social and economic overhead capital
IIl. To ensure balanced regional and sectoral growth
IV. To pursue egalitarian goals

Select the correct answer using the codes given
below :

(a) L 1II and III are correct

(¢) LI I and IV are correct
.(d) LIl and IV are correct

Suez canal region, the correct order of lakes
ngt!:,\lorthfto South direction is

¢ Timsah — Little Bitter Lake - Great
rLake - Lake Munzala

le Bitter Lake - Lake

4,

755

76.

Hfa T g
mmzﬂia;“i) 1 SR I 2

am 8 HI3 TE
(c; inaﬂtnmﬁ‘é (d) “ﬁmj: LS
‘ 4 % | .v -H1
mﬁ@wg‘m%m
o wdl /8 7
| A e
2. ety i Gt .
3. @mﬁ“w&aﬁmﬁm
% el ST I ¢
(@) mgﬁ (b) el | 32
(c) e 233 (&) 1,233
TG Wi 8 3 et o wey 1, Fefaa

i} B W wd R/E 2

1. S I weres v s

1L F S e SR et a1
"I-ﬁﬂﬁa'ﬁﬂw@tﬁaﬁamgﬁ%ﬁm
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NJL-1-19 ! the corpgq
L_.._.wri t_i_nt”
88, MatchList __xniﬁnm. 1
answer using st
List-1 | Cndayan
A Ml D pshigh
p. Damodar M ppgmavati Kagyy
. Somnath ..Ews_wcnr
D. Amir Khus?
- Codes :
apc?
(1) <L RANE
) 134t
© 2 41 3
(@ "R
89. Who —_agma:o__osam kings had given
patranage to Tansen peore Akbar ?
(a) Raja Ramchisda Sighof Bhata
(b) Rajbahador of Malwa

() Uday SinghofMewar -~
(d) Muzaffar Shehof Gujarat

i

90.  Maich List— I with List-Iland select the correct

answer from the codes given below the _.mm_m :

List-1 List - IT
(Ruling Dyt (Capitals)
A. Pallava I. Warangal
8. Pandy 2 Kanchi
Cfams r u,wznac_.m
ol i?u«ém.:

Codes : L 2

Tinicas

88.

89.

na W 3y g,

M»_M@ﬁiﬁ% B ™

et - 1 -1
A, e G 1. |gr
m.mﬂwﬁiw 2. antfire
C. | 3 WRITEH FHepy
D. nfit ged 4. famity
% |

A B COD
), g {
by 1 3 4 2
© 2 4 1 3
(@) 1k

&mmgsﬂwdﬂ%

1 e |
Eﬁuﬂaﬂﬁ&m&
Euam_ﬂ_ﬁuuﬁ
(©) Trs v o
(d) TS F1 FAFRL AT \
-1 i%?&?%%iﬁ
Eﬁ#w ;

~ .
aimc. Nﬁh_é
A. veeE 1. AT

ol.

92,

93.

nie the following monuments in a chrongloy,..
.\“...._w.a.‘wa.a_ns the correct answer from the codes Nﬂ

W
__un_.wunc:. Daurani's Tomb, Aurangabad

{1, Shershah Suri's Tomb, Sasaram

1l Humayun's Tomb, Delhi

v, Atala Mosque, Jaunpur
Codes :

(a) LIL IV I
(¢) IL LI IV

(b) IV, IL 1ML, |
(d) ML IV, 11,1

With reference to Mansabdari system, which of the

statements is/are correct ?

1. Mansabdari system was the official nobility of
the state, started by Akbar.

2. A Mansabdari was hereditary.

Select the correct answer using the codes given

below :

Codes :

(a) 1 only (b) Both | and 2

(c) 2only (d) Neither | nor2

Match List — I with List - II and select the correct

answer from the codes given below the lists -
List - 1 List-11

A. Treaty of Allahabad 1. 1782

B. Treaty of Manglore 2. 1784

C. Treaty of Salbai 3. 1769

D. Treaty of Madras 4. 1765

_..,Uﬂgau

%
2y LI IV, 10
€y 1,1 LIV
. ety e % WA A, AT T wh L
g%ﬂ*ﬁniw%
), Fra s 3 WA

ﬂ.ﬁuaﬂ_ﬂﬂﬂa !
ﬁfﬂ#&waﬂam@n

b’ () 13223

o Fad 1
) FaE 2 (OELIEEE )

Th 1 % g — 11 & ghfem S s
m»&ﬂﬂi.@wd@mﬂwﬁ
-1 w11
| FeTEETE S Efd 1. 1782
3. TR # @Y 2 1784
C HieEE S A 3. 1769

(b) IV.ILIL L
(d) NMLIV,IL1

4. 1765
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inistration
NILL-10 et
ot i

tl
%. g;agﬁ_ﬁ _ﬁia%a__% e
) zm_“a m_.uazn&iz__&a_&. called gy,

:~ _CCJ

i ¥
va: s.nn‘ ) e
2 »ﬁ“_@ﬂﬁﬁ_% the codes Zivep
Be!
Select %ast_ * poth 1 and 2
bdon’, S e | nor 2
(a) | on
(c) 200l

" 10 remg
ol | ve the
9. Who prep™ .nw.n_&__ Muslim League 3ng
“..-M___SZuia_oﬂﬁnMv w&mo_unsnrml
(a) Jawaharl? V.P.Menon

. pgs (@
(©) QEE.-EEE
ic Nationgljsm :
haf Feonomic nalism in
97.  “The Rise and U™

India! was wriden b

Gt
(a) Partha St (@ Bipin Chandra

] ing ‘the Provisions for (he

98. ~_“LHM”=°M.“JE§ eal of environment and

.“_?m_E&_ﬁa.gi wildlife’ are found in

the ConstintionofInfa?

(a) Only inthe Dinctie Principles of State Policy

(b) Only in the Fusdamental Duties

(c) Both(s)and(®)

(d) None of the zhove

99.- With reference (o Panchayats which of the
statements is/are comect )
1. Fifty percent seats shall be reserved for the
2 GomSumipig
- 53 Isti

ivingim v rW%saESm of all persons
3. ._mﬂ__d Villbea Panchayat at intermediate
Sel o
_i_um “__nnsﬂ.-uaﬂ__eﬁn_n codes given
Codes : ™
(@) Lonly
(¢) Both] angy c

95.

96.

97

98.

(0 __________________________

5 e 1, -1 W
il w1905 '™,
| e e 3 et it Y e gy

favfy formm | .
u.@&ﬁw?zasnaﬁﬁﬁnaﬁa:g_

A o e g 8 I
o] 9 1 ah 2am
o @ A 13t g,

oftn Wl T wE F
Wﬂma%%&ﬁﬂ@wgé%_
ﬂﬁmdvﬂwﬂgﬁw
(a) ST TEE  (b) TS

sfogr & @ o
(a) mf weff A (b) TE. T
(© @ 9R T (d) fifm s

ffafed # 2w % dfaue & e Ty
T S AU A1 97 9 9 ST B oy w
TEYH TR S R 7

(a) Faet T=a % A e aet §
@) Fae T wde A

(¢) (a) 3 (b)Fmt

(d) 3w & | B8 T

ﬂi#imnﬂmwﬁiﬂﬂum@ﬂf,

1. 7S gfowrd W2 sghE it/ sEE |
-t 1 wfeenatt & fore smfia gm |

2.9 81 v e R R e e wi
smEaE

| “‘-Il-

101

102

103.

~ below :

| Social Assistance Programm.
:a.:___:“ following scheme for .:1395.

!
¥ —..:‘.-.1_

N
ﬁﬂ%&nc:mnxc_%

(a) National Family Benefit Scheme

nnapurna
Mww U_nz_u Kisan Sashaktikaran p

::vf s
(d) All of the above Jna

who said ‘India is a Quasi-Feders) State’ 7
(a) Lord Bryce
(c) H.J. Laski

(b) Ivor ._u_::r;
(d) K.C, Wheare

Arrange the following events in 4 chrona
order and select the correct answer from th
given below : ol
1. Maharaja Hari Singh signed the [ns
Accession.
II. Constitution of India was enforced.
1. Accession to India ratified by the Sovereign
Constituent Assembly of Jammy and Kashmir,
IV. New Constitution of the State of Jammu and
Kashmir came into force.
Codes :
(a) LIILIV,II
(¢) LIL I, IV

logicy
€ Codesy

trument of

(b) I, IV, T, 11
(d) IV, 1L I1, 1

. Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).
Assertion (A) : The Supreme Court of India has
exclusive jurisdiction regarding Constitutional
validity of Central laws.

Reason (R) : The Supreme Court is the Guardian
of the Indian Constitution.

m.,n._mm..:__n correct answer from the codes given

oth (A) and (R) are true and (R) is the
rect explanation of (A)

(A) and (R) are true but (R) is not the
t explanation of (A)

rue, but (R) is false

(b) 2 October
(d) 24 April

hich of the following Article was inserted by
g I.:ﬁ:.:o__ Amendment to provide for

(b) Article 39A
(d) Article 43A

21

NJL-1- 19

ey AT
ra % forg, A
(a) U

(by FAH gt
o g o T
_&unduﬂmia

- A W ST T Y
o ot O T

?ﬂ%%%mﬁm@mﬁﬂﬁ
ﬂ&ﬁm&m@ﬁ&mﬂﬂ@n“
1 g R Forg 3 e I R e
:.ﬂﬂmﬁﬂﬂ.ﬂ.ﬂgﬂg 8

T3 HAE w3
111 FH-HFER B v
Muwma%_ e |
V. 5 A FIHR T4 B TN HAA A
mwu_. ML IV, I (b) LIV, LT
() LILIL IV (d) IV, 1ILIL1

c R mmEitE I a™
78 1 FRO (R) T R | e
gm>viﬂiﬁﬂ_ﬂﬂiﬂgﬂa
3 YRd & Fars AEEE $ I3 FEn b
FROT(R) - Far= IACH SRAA SaUE 1SS |
3 fow Mo 52 & & Fé I S

M\.m (A)T1 (R)EHT T & 71 (R) 54 (4) 7
F =T 2

(b) (A)TI(R) EHT w& & v (R) 7 (A) F
T =wE @ 2

© (A= R g (R)Tem 2

@) (A) Ta R g Ry T 2

¢ T B T e v e e
(1) 265 FY (b} 2 3 F
©2FBER (@) uWEH

s 2% W S g R v & R
afte i yavR 3§ wpftert gffeea & 7
@) FFBI3R = 45 SR I9A
O RS (@ sk
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110.

i

107.

108.

109.

110.

_____,,_,___,__;__;_;.
nﬂzﬁbuﬁﬁﬂiﬂ?ﬂﬁgﬂ:f

0} dmﬁﬁﬁ@ﬂﬁﬂ.ﬁﬂaa

» Aagaﬁﬂﬂﬁﬂﬁﬂﬂw
(c) fordw wffRufll # ey fan

ﬁdﬂ;
(d) IO 8 | o8 T8
st |fum wgwn.@mauwigy;
A et 3 B ¢ oy

(a) =1 Y wEiofE wfEg

(b) TS F FrieE & R g

) TSI A ey

@ aﬂ.%ﬂ&ﬂﬁﬂu@.ﬂﬂﬂz

frefafiaa 3 | frm g =

fored A

w9 & off 9 s R g Ll
(a) WU (b) ey
(c) e (d) sy
T - IR g - 1% Ty i
Aﬁyimﬂﬁﬂwﬁﬁwﬁvﬁ

-1 e - 11
CRaElic] Qmmyﬂusm...g
e fermean 2019)

A. B

A =_r..m _A\-Z—.: >=.w:n 8737:_.50 —..Lr-.t_:.x Ve,
112 is at the 1op in the India Innovation Index s

NDS; :
(w) Tamil Nadu (b) Maharashyy,
(©) I:..wé:n

(d) Karnatay,

[(3. The author of the Booker Prize Wiy,

er 2019 by, 0
“Girl, Women, Other” is |

(a) Margaret Atwood (b) Elif Shyfa

(c) Salman Rushdie (d) Bernadine Evarigg,

|

114, Whom did P.V. Sindhu beat 1q i, the .,_:_,_
ever Gold Medal for India ip Women's w,sm_n.,,
Badminton Championship in the final ma

tch ? A
(a) Carolina Marin  (b) Taj T, Ying

(c) Nozomi Okuhara (d) None of these

|

|

115.  Which hydropower plant in Bhutan was inaugurated
recently by Indian Prime Minister Narendra Modi ?
() Chhukha Power Plan;

(b) Dagachhu Power Plant
(c) Kurichha Power Plant

(d) Mangdechhu Power Plant

- 116, Which among the following was the first 100 percent
- organic state in the world ?

™ _.,.E Queensland (Australia)

(b) California (United States of America)
~ (c) Sikkim (India)
(@) Quebec (Canada)

(b) Painting
(d) Marble carving

let ..Uo.avn Malik, who has been awarded
jandhi Khel Ratha Award 2019, belongs o

(b) Discus throw

(d) Weight lifting

TR
gy g 7

) e (0) WE AR
o el g (@) PR AT

o it e A T A

= gy i o 3 P T 7
(a) Mﬂ‘qa%

) n..:ﬂ.g%

) Fie faga gfE=

(d) %@Mﬂ%

| A § & P O g T

0 i e T # 7
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e ST
i 0 ‘wrblindncs_‘

WV

mw’ ’B NOT Correctly

gf,‘ fkh Source)

o B

d"‘ “,]iveroil

“'vg gt germ oil

@ ““: it

@ s v labelled a
gReason (R).

122 Gl
Ad:,f‘“n’nmins are not

it
l‘#—'ﬂnthesise only
w*”wwdes given
beos

Cods: .

(1) B z=nd (R) is the
crecmndll

(b) Be izt (R) is not the
e mad(l)

o) Wimbehste

@ Wbz

12 Ml et the cormect

B piow the lists :

e
Bplosive

121

A Rt

WA W 2019y, |

110, @ T% ey
Wmaam:mﬂhmw;
(h RECT

i
« (@
mmimm!‘lm*ma
frfosa 2 ) 3 &
o w0t (b)
(c)(lﬂ'ﬂ
fferf § & -1 T
Necuce))
(a) forfid By
() ferf B, :
(c) feifid E E 3T At
(¢ ferfE K TEHTH
3 2 e Ry T # o O N Fe (A) Ty
@ F F (R) FE R |
wuA (A) : T e 7E Wit § dfg
7@ frg o € |
FRUT(R) : A 371 Haet A Gew g
# Fveryw F £ |
A fag e e A @ 7 I
Fe: X
(@) (A) 7 (R) 3Fil &t & 3 (R) T2 (A) ) &t

=T &
() ()7 (R) 3t W & g (R)FE (A)H
T e T E
(©) (AT 2 FFER) &
(d) (A) e t.ﬁFg(it).

19
JURS 3

120.

wdl gifera ffy
oTg A

aT i e
(5@ #7)
FIS-Td ey

121

123.

[ catll

24

126.

Codes :
pat e 1 6
(35 1 only

A sample of any of the followi
disappenrs after sometime when upﬂr:;'l:‘ ::rnf %
camphot, niphthalene or dry ice, This ﬂnmm,::

is called
(1) Subli
(¢) Diffusion

(b) Evap
(d) Radiation

The phenomenon used in optical fibre for

transmission of light energy is

(a) Total internal reflection
(b) Diffraction
(c) Scattering
(d) Refraction

Which of the following statements about

enzymes is/are correct 7

1. They are biocatalysts.

2. They perform their action on the site where
they are produced.

Select the correct answer from the codes given

below :

.

(b) 2only
L(cz ‘28“!:-‘#"" 2 (d) Neither I nor2

ilk provides

NJL-1- g

1y %
ity 8 i faseh ] TR W g
"Vt e gy epve ez T e R 3R
Yoty sores e W | ¥ TEZA W w0

" e (b AT
» foxeoem (4 fafawn

R PR ——————
* mater zn Som wn Y
PPN —
g 2
ey whvda
4y weeka

T % s & B v A 3

k2

Lamz=mst

2 3% & 2 =E W 5w e i
Ec s ok

Minmed -

126

T2
f) T 1 () 32
(c) 137235 @ Fd 13xIA2
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NJL-1-19
129, pibliomety s yerwork
o of Libran ;
(a) _.._sa_o_..a Nias aaag_ Service
(b) Informatio® nent Too!

age
(c) Informatio® ._53_@

(d) Library Se0®

¢ the following = $i80CHatey With

130.  Which one O
‘Albedo’ ? .
(a) ._,aaa,___,a;:q.:
(b) Absorbing PO
(c) Emissive power
(d) Reflecting poVer

131. Ss:aw%aﬁggsog_qu_wsoqwanOv
which of the fllowing salements Ir€ Cormecy

I Itis Global Rescarch PrOgMME [0 Outre
role of carbon on earth.

2. It conducts field observations of deep
microbial ecosystem.

Select the correct answer using the codes given

below :

Codes :

(a) 1 only

(c) Both | and 2

(b) 2only
(d) Neither | nor 2

132 Which of the following is NOT comectly matched 2

(a) Cartagena Protocol  Biosafety

(b) Stockholm Convention Persistent
organic pollutant

(c) Montreal Protocol ~ Ozone layer

(d) Kyoto Protocol Save water

133.  Given .cn_os are two statements, one is labelled as
Assertion (A) and the other g Reason (R).
.mem_.:oa. (A) : Maximym number of the species
ol butterflies are found iy tropical countries.

Reason (R) : Bytern:
temperatures, erflics can not tolerate low
Select the correc
below ;

Codes :

(a) Both (A)ang

explanation o.ﬁwvﬁ INeand (R) js the correct
(b) Both (A) ang

corect nku_%_ﬂ”ﬁ>d= (R) is not the

{aswer using the codes given

129

130,

131.

132.

133.

T

e R
”ﬂuﬂwﬁnm@wﬂmﬂa

(b) e vy W@

(c) TEAI WHYH IR

(d) yeTwTEA

Frafafaa § & F-90 weple) A wafid & 7
a) waEm wifF

(b) aravifia wfF

(c) Ieqaish wfa

(d) ame 6 ufF

et wr dvwren (a0 F waa A

wuA! § A F-| A R/ 7

|, AfFaw e HEER gl TOFRA H
sifirr 1 3 W & fo 21

2. 7 TEh wewifeTe gifEafR @ % et
IaEE & for 21

&wwm:nmnd.@m%uﬂamﬂn

E

(a) Fae | (b) Fa 2

(2 1 3 22 (d) T 132

Forferfiaa # & #-m wd gt T8 # 2
(a) I SrEtHI LRI
(b) RIFEM FEEH AW A WTE
(c) A S 3 T
£d) TN R e HE

A & o fow o § o o @ w (A) e
TR T F (R) F IR |
U (A) : T 3 3 faferdt i wanfat
e e  arf e § |
gﬁvuﬁgﬂgmiﬁﬁm_
imnﬂmwﬁﬁuﬂﬂ—ﬂﬁﬂﬂn
Fe:
€ ()T ()2 T § o Ry w ()
BLESIC |
(b) (A)Tem Eumﬁma.% ;
e e A}
(©) ()& 3

(Ll

134

135.

136.

137.

L
5
The amount of energy during trangfer fro NJL 19
ropic level to another in an €COsYstem LT N
() Increases _,, Y e = o et =TT a ﬂ.w
Decreases | " st £y A
® / e A FA
(¢) Remains constant | » vl
(d) May increase or decrease 4 & T B
Which of the following is associated with bioje 4) g A 2o Tz Fadl
nitrogen fixation ? gica) 3
dalgs ‘ | e s A T
(a) Red algae (b) Brown ajgge iy
(¢) Green algae (d) Blue-green algae - i (b) bicic
. : (@) Hen-E0 fard
Smog is essentially caused by the atmospheric 2w A
presence of X v cettrl lﬂa.ﬂdﬂ:ﬂm—mﬂ.ﬂ@_@m
(a) Oxygen and ozone § ety 3 AT 2
(b) Ozone and nitrogen ) A A o ic]
(¢) Oxygen and nitrogen 5 g Al AR
(d) Oxide of nitrogen and sulphur | e w AT
4 IR A BBl & HATFATES
The .Q_ocw_‘ - u@o. Award is given for rare | 17 = i : % R
achievement in which of the following fields 7 o LS00 o A R 7
(a) Gene preservation ) e T
(b) Environment conservation ) e EE
(c) Population control | e

(d) Pollution control

h of the following is a Nodal Institution for
entation of Sustainable Development Goals
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141. >S=mnsna=a=a%_a_%_saﬂ ﬂa Selog i | f the following Sust
scale sector in 311 Cooges given beloy, ™ the 14 jch of the OTOWING Sustainable Deyey . -1-19
correct answer 10 _ 1w umit & forg el fo afifol @) sty 45 i_,_ug will target 1o water availabili 1.33::; NJL
 Commitlé® 1 wyaften Hif aft AR Ry ik (% Al management upto 2030 ; Y1orall ang . | 1
I Nayak Com e Wiy ; AU TR e e _n_.an:n PO 2030 in India he FarE A (SDG)
I Abid Hussain C° : «DG - 6 (b) SDG fop it @y AT T A
1. S.S zu:__.naaa..:nn 1. Amw gffy (1) sDG ) SDG -7 g s ot * foa qri <R
els) . X L+ ko4 i Fom 7
o :.__ e &l afafy () SPG 8 (d) SDG -9 5, cogrdy O ﬂma.b ot
Codes : LIV EMMMWM#%% " THA_6 (b) °H B
@LLwi L 1v 7 QT e concen of Limig ha_g (@ WART
© v @REE b Growt 2
14 List—1and select th MW _H.<:.=:”. ”__ LN (a) Club of Rome 46 day ) FEaTon B aferd fred
2. M ist = [ with List = S ) A, (d) 1,11, :-
u:wﬂwﬂwm.: the codes given below m_t._mawn_.m_mcuﬂﬂnn. v Aﬂw 2 ) I, v (b) UNESCO a7
List - =11 B ~ 1% gt - 1 g 1 7t A9
Programme) (Launch e *ifre i gfiit % Brundtland Commissi :
A _Zu:.o_._a = aﬂ_ﬁg i GMME.V .W.M,ﬂqw& Mﬂ# A\l I gfu ; () - mmission bk
for Control of Bli = - d) Agenda -
B. m”ﬂmh.& Child Development 2. 1936 A @) %h& ( Vs A -
e . 3iuey i ‘g
C. National Le %0 ® U wdEy | ~ The number of persons wh . a2
Eradication / me 8 B. wuf=m aret faemg FroT el & for a major part of the v.nmw“usn_.“:na jwioyed Ig
D. National Rural Health Mission 4. 19g3 C. T 57 Fra wdam 2. 1976 called " frpim Gl B HOATR AT SAfEE
O&M.. - . D. . 3. 2005 (a) Cm_._m_ status unemployment £ 5 2 v B
@i 2 34 ¥z T fir 4. 1983 (b) Daily status unemployment ) == Erfr UL
M@W w 4 0 _> B C b (c) Weekly status unemployment * 55 gty o
c 2 o Tk 3
(d) 4 .a“ M w (b)No 7 .._._ N - (d) None of the above J..nmﬂg .m””qa
143, Given bel MMW m w M 3 148.  Withreference to the C & -
; n below are two is 1 e orporate Social R .
e i e ot ¢ Regsos (1 Delledas | 143 99 & e fog g K i (GSR), which of the statements ifare copentr | 1 T STRGIRCS (CSR) ¥ 0k
sértion (A) : The labour f; e . ™ ] ! : e
_‘.““___._Mw sharply in the En.:ow..moemumwm .W SN Tate T H (R) &1 7 .wﬂ”m%— R (&) L. Companies Act 2014, introduces mandatory L.d o
Reason (R) ; Ty g el HET(A) 2 BT % 79§ v ¥ wfenaii 3 i ! == T2 2014 3 HLUA.SR. B FEE =
Participation rate jg aﬁomﬁwoa In labour force oW 1 wrfierd $ o 30 firraz s fow 2. Companies covered under this will hav )
income and incroqus 1< 1€ iMproved family | - R (R) : Wit s ; 21 P et o -
mn_nsa_nnoas_ in education, y Wﬂg.@wﬂmﬁqm@ mﬂzﬁgmmﬂ _un a n.mm... one percent of their annual = A S wEea ﬂnw_ﬂ_mﬂdﬂ
m%amn 0, AmsWer from codes given below - A2 fow =ei 3 4 m%%qﬂ_ﬂaﬂ 7 firae s & | _net-profit in the activities under CSR. = ¥ G Wiawid S1LUE.HR. Tt § =
Ol m) - ﬂﬂ &@.ﬂ . .rﬂ,u. - ) ; = -
sagzw”__.u__ﬁ_ﬁwa and (R) is the M« (A : : ect the correct answer using the codes given -
® me___o,f_._u:_fa.h”v umwaa_ (R) 2 &t & v (R) ey (A =730 B B WA I0K 1 wEA S
COMect explanarigy but (R) is not the TR 8 ; ly (b) 2 Only = () Fa= 2
©) (A)is tru, py (-2 A) () (A) 71 (R) 2 Wt & e ¢ : R i )
@ (4)1s fage, “E. - Wy T AR hland2  (d) Neither I nor2
! g:n e < - v L r t_i. 2
e AL uS_ Om»__a_. of Life Index (PQLI) is 149.
eloped by -
- is D. Morris (b) UNDP
g Haq (d) None of the above
e India’s rank in the Global Hunger Index | 150
(b) 101
(d) losth
o
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